

Def. Let X, Y be two r.u.'s.  
The joint cumulative distribution function of X, Y  
(joint CDF)  
is defined by  

$$F(a, b) = P\{X \le a, Y \le b\}, a, b \in \mathbb{R}.$$
  
From the above def, we see that  $F_X$  and  $F_Y$  can  
be obtained from  $F(\cdot, \cdot).$   
 $F_X(a) = P\{X \le a\}$   
 $= P\{X \le a, Y < \infty\}$   
 $= P\{X \le a, Y < \infty\}$   
 $= P\{\lim_{b \to +\infty} \{X \le a, Y \le b\})$   
Using the continuity of P  
 $= \lim_{b \to +\infty} P\{X \le a, Y \le b\}$   
 $= \lim_{b \to +\infty} P\{X \le a, Y \le b\}$   
 $= \lim_{b \to +\infty} F(a, b)$   
 $= : F(a, t\infty)$   
Similary,  $F_Y(b) = \lim_{a \to +\infty} F(a, b) = : F(t\infty, b).$ 

• Now we consider the case that both X and Y are  
discrete. In such case, we can define the  
joint prob. mass function of X and Y by  
(joint pmf)  

$$p(x,y) = P\{X=x, Y=y\}$$
.  
Thun  
 $P_X(x) = P\{X=x\}$   
 $= \sum P\{X=x, Y=y\}$   
 $= \sum P\{X=x, Y=y\}$   
 $= \sum P\{x,y\}$ .  
Similarly  
 $P_Y(y) = \sum_{x} P(x,y)$ .  
In proficular  
 $F(a,b) = \sum_{(x,y)=y \in b} P(x,y)$ .

• Def: We say two r.v's X and Y are jointly continuous  
if there exists 
$$f: \mathbb{R}^2 \rightarrow [0, \infty)$$
 such that  
 $P\{(X,Y) \in C\} = \iint_C f(x,y) \, dx \, dy$ ,  
for any "measurable" set  $C \subset \mathbb{R}^2$ .  
("measurable" sets include, for instance,  
the countable Union/intersections  
of rectangles  $[a,b] \times [c,d]$ )  
• In particular,  
 $P\{X \leq a, Y \leq b\} = P\{(X,Y) \in (-\infty,a) \times (-\infty,b)\}$   
 $= \int_{-\infty}^b \int_{-\infty}^a f(x,y) \, dx \, dy$ .  
• The function  $f$  in the def is called the joint  
prob. density function of X and Y.

Example 2. Suppose X and Y have a joint density function  

$$f(x,y) = \begin{cases} 12 \times y (1-x) & \text{if } 0 < x < 1, 0 < y < 1 \\ 0 & \text{otherwise} \end{cases}$$
Find  $\bigcirc f_X$ ,  $f_Y$   
 $\textcircled{O}$  EEXI and E[Y].  
Solution:  

$$F_X(a) = p\{X \le a\}$$

$$= p\{X \le a, Y < \infty\}$$

$$= \int_{-\infty}^{\infty} \int_{-\infty}^{a} f(x,y) \, dx \, dy$$

$$= \int_{0}^{1} \int_{0}^{a} (2 \times y(1-x)) \, dx \, dy$$

$$if o \le a \le 1$$

$$= \int_{0}^{1} (2y \cdot (\frac{x^2}{2} - \frac{x^3}{3}) \Big|_{0}^{a} dy$$

$$= \int_{0}^{1} 12y \cdot \left(\frac{a^{2}}{2} - \frac{a^{3}}{3}\right) dy$$

$$= 6y^{2} \left(\frac{a^{2}}{2} - \frac{a^{3}}{3}\right) \Big|_{0}^{1}$$

$$= 6 \left(\frac{a^{2}}{2} - \frac{a^{3}}{3}\right).$$
Taking deniusible gives
$$\int_{X} (a) = \left\{6 \cdot \left(a - a^{2}\right) - 0 < 4 < 1\right\}$$

$$\int_{0}^{\infty} x \int_{X} (a) = \left\{5 \cdot \left(a - a^{2}\right) - 0 < 4 < 1\right\}$$

$$= \int_{-\infty}^{1} x \int_{X} (a) dx$$

$$= \int_{-\infty}^{1} x \int_{X} (a) dx$$

$$= 2x^{3} - \frac{6}{4}x^{4} \Big|_{0}^{1}$$

$$= 2x^{3} - \frac{6}{4}x^{4} \Big|_{0}^{1}$$

Example 2.  
Suppose X and Y have a joint denshity function  

$$\begin{array}{l}
-(x+y) \\
f(x,y) = \begin{cases} e & \text{if } o < x < \varpi, o < y < \varpi \\
o & \text{otherwise.} \end{cases}$$
Find the prob. density function of  $\frac{X}{Y}$ .  
Solution:  
Since  $f(x,y) = \circ$  if  $(x,y) \notin (\circ, \infty) \times (\circ, \infty)$ ,  
we may assume X, Y always take positive  
Ualues. So is  $\frac{X}{Y}$ .  
For  $a > \circ$ ,  
 $P\{ = \frac{X}{Y} \le a\} = P\{ X \le aY \}$   
 $= \iint_{\{(x,y): = x \le aY\}} f(x,y) \notin (x,y) \notin (x,y) = x \le aY \}$ 



Prop. Suppose X and Y have a joint density  
function f. Then the marginal densities  
of X, Y are given by  

$$f_X(a) = \int_{-\infty}^{\infty} f(a, y) dy$$
, exc. IR  
 $f_Y(b) = \int_{-\infty}^{\infty} f(x, b) dx$ , b e. IR.  
Pf. Notive that  
 $F_X(a) = P\{X \le a\}$   
 $= \int_{-\infty}^{\infty} (\int_{-\infty}^{\infty} f(x, y) dy) dx$   
Let  $g(x) = \int_{-\infty}^{\infty} f(x, y) dy$   
Then  
 $F_X(a) = \int_{-\infty}^{\infty} f(x, y) dy$ 

 $f_X(\alpha) = g(\alpha) = \int_{-\infty}^{\infty} f(\alpha, y) dy$ (assuming that g is cts at a) Similarly  $f_{Y}(b) = \int_{-\infty}^{\infty} f(x,b) dx.$ ( under some regularity assumptions on f) §6.2. Independent ru's. Recall that two events E and F are said to be independent if P(EF) = P(E) P(F).

Def: Two r.v's are said to be independent (\*)  $P\{X \in A, Y \in B\} = P\{X \in A\} P\{Y \in B\}$ for all subsets A, B of IR. In other word, the events {XEA} and {YEB} are independent for all given A, B. Clearly if X and Y are independent, then  $( F(a,b) = F_X(a) F_Y(b), \forall a, b \in \mathbb{R}$ Reason:  $F(a,b) = P\{X \le a, Y \le b\}$ = P{ X < a } P{ Y < b } =  $F_X(a) F_Y(b)$ .  $() \Rightarrow ()$  is clear. But (\*\*)  $\Rightarrow$  (\*) is also true.